CN 103365208 A

(19) e AR EFNE ERFIR =G

£
B

*:‘P (12) % BHEH BT

IR

(10) HIF %S CN 103365208 A
(43) HIF AT H 2013.10. 23

(21) IS 201310292729. 6
(22) HiEH 2013.07. 12
(JDHRIBEA BRESEELEARAF
HbdE 210061 VL7548 /a5 VR 1 i F R X
il R % 6 5 m A il
(72) BN FRAFY 5kEE R M

(74) ERMRIENH B REL AU R THE
AF] 32218
RIBA K

(51) Int. Cl.
GO5B 13/02(2006. 01)

BUM ZER A2

LR DI I D

(54) & RBREATR

— il ELAG JEC I 5 O 22 5 1 6 JR 3 A
Jii:
(57) BHE

— Pl AT R I R O 2 15 1E 10 SR A A Ak
T30, AR I T IE  oy WE R (R A S e AR T
KRG, BAEE KM ZMMREENE LS
BTN TR R A AR = fE o DU M (i 2=
& IE R & AR B %A B AR T A B TR
TR A B AETE PR 22 P 68 JE et M T {22 2 1) R
oAy CDU $2 4336 A2 i T 2SR 1 Ja g, 8 4 77 Js el
JFif 22 4 CDU J& J& 482 I T2 B SR (R4 55, AR 1IF
TR, Hem T AT .

PEERY




CN 103365208 A W F OE Kk P 1/2 7

Lo — Bl B T M B 2218 1 B SO S D0 T 3%, iR AT R 5% 21 70 BE i 470 i
SEAE G SR G, P25 eI IR 22 b IR N R 2 AT 0 T SR it S A i
FREAE T2 B LN IR

ABRA KB G R RE A NS A Y, v 55 L AN 0 5 Jo 3 6 e G o i )
Jsah M B B A B PRA

ABRB —ASE I S T AR N LA w92 b b B S M B Wi ga A, LAz
B F 58 P 22 e e s it M RS e 22 LA R S A BN R B S AL H BR BRI 2
WEAT s SKARAT B R A ) -4 50w o B, RIS CTT

BB C A IRA BT R E R R RAPAT, 2R G SR A 5 5B S NG, R EF I
LW SN RS iE

AR D AR [P IR B, AF KIWIAREATE & HARE T, 2RSSR AR H bR e 20 15 208 B &
BC 7 HPAT, TEH R HE R IT N MG R, BN G RS

2. MRAEBCME SR 1 ik i — b B A TR e i 2218 1 B Js i S U0 T i, FURFAEAE

A A K XSRS A 50 a S BE b 5 Js i It B A H e

Py :%(H_V(})*'po

B, pe S kARG 58 i G E A S 1 R A HARE, k=
1, 2. N, N 8 & el e 5 2 1) s AN sp, AN G R R s 2 o E o Js 7
R I e 25 H PR spo A BEAN T A D RE T4 B 22 4 BE PP e 1 B8l BT a6 18 5V, %
ARG R RE ST AR G E P O B B 5V BN IR S R A I G b E PR 1 B
Vi A kAN G R 50 S G2 e R O A R

3. MRYEBOMER 1 ik i — A B A T i o e 22 46 1 1 Jso i & DAL T i, R IEAE
TR B ik i H AR e O A A4 T 5

WX, )= Z[(wkzaaixki +(v,—w)d )/ v,—p T+ ch.xki

i=1 i=1

5.1 z":x,d =]
i=1

w X, < t,.B

tB<TU

LA, W) A kANREEFINMEFRRE, k=1,2... N, N ARG SR TE
(2 A3 sn Ron 2 5G4 73 20X 858 kSRS B 45w T, X =
[Xes Xio™** X s Xy = 05 xyq RN 1 FRLL - AESE k NG A EIP BB 5 M R o
RIRE, A =0 sa; A 1 P4l iR BuEds sd, A58 k ARG B T4 0SS Fr il 43 1) 22
MRE A S SRR, d = 0 5p AR kARG R 50 RS % e R R 1R DR g P B s 1R
G BN, pe = 0 5¢; NS 1 M TIRERIGM %, ¢, = 05w A58 k MRS BRE S &,
we = 0 5t AE k ANEE BRI AT, t, = 0 5t ARG R P HAT I 7],
t =0 ;B N ISR E LRI AL /3 I B RIIE, B = [by, by+b, 1", B = 0,b; RoRH i P44y
TR e KU U A 5B RERIERL  2  EnT R L 2 i S, U = [uy, upeeew, ] U =0,

2



CN 103365208 A W F OE Kk P 2/2 T

g RARHEAT R 1 AL 2 R R SR AL i i B



CN 103365208 A i BB 1/4 5

—MEARBERBEZERNRBMASHILTIE

AR G
[0001] A< W K ARt A b s i Jon T 45038, R (AR — i LA e R oA LE 1) Ji v 1 45
WITiE

B=REA

[0002] T, il fEL H B GHEOR CIT AR A 2 ME) SRR . J5UfEL B
G EEREER G, MAEEER G KPR G5 BERE A RS2 E R CDU 34T
To AHER > AN AAFAERAE— IGO0, BN 410 i S AR & 2K 1 &, R b BiER A\ CDU
T,

[0003]  HLAT IR St VA 15 AE LR BC 5 LA J5 i, AEAE AT XS (A8 18 & Sk i i A RE 7= e 5
5% 1 E P ORI T N 5 2 U U G Sk RO el S T U G P RE R A PR B i = S
W PP AT SRR I S LA R VA 45 S 7 it M B, S T 3R ik e it R ) JE e P B A s i 22
M IR N A 2% COU 1 S i 1R 5 5 52 B B b A A8 22 » 328 1052 i ol O 5 227 2o

ZEAE
[0004] A BHAET S A AR b S o 8 -G A A7 0 fi 08 JEC 7ol 2k 0 MR 22 [ 8, 4 HH T —Fh BT
JE IR R T i 22 4 1E B R S R A DAk 7 v, TR R A T2 AR AR RTHE R, DUR I
B w22 ) R S B 0 B AR AT UL, SRS R AL 77 s 76 PRIE ™ 5 5T & 1
A, 32 i A R BF R3S
[0005] AR BHIHEA T % -
[0006] i ELA JEC Ik 000 22 4 1 1) SO R S AL T ¥ 5 12 7 VT ok 454 43 i R K 4L oy
W SCAEE A SV A, B 225 RS I IR G BRI N ek P 2 B AT I 1 SR R A A e i
R, AR LT IR
[0007] IR A IS ERE O NN A R, V5 AR A8 A 58 U b e
o R DR g M SRR TR A B AR
[0008] IR B . —AHi A F ARG I, LA HT G2t S b i e e M S O WD AR (R, LA
AR A B 5 B % B T S el R SO Al 22 DA B TR A BN A R ST H B R AL
R G&AT, SRAEAF BN A AR 241 70 9 o B, BRR SR 7T 5
[0009] IR C 1A H T EIE ZEH RS AT, B AL A 5 A IR S N B B, 17
FrfA BT AN B2 ZIR A G R
[0010]  BEE D R[MIZIR B, ZEHT AR A & B bR(E T, 2k8 R fdt B bR pR 50 749 2059711
AT HPAT, AR B2 IAT N NS B, SR
(00111 BER A KA N H NG I 56 G e B b i 5 S R R S B AR
{g -

Py P

0012 pr=——V.-V)+p
[ ] k Vf_VO k 0 O



CN 103365208 A i BB 2/4 7T

(00131 E3Xrb, py S ke AN U150 1 i b R v 1) s it P Sl B 5 PR EL k =
1, 2.0 N, N BN & b R o 2 6 P S 5o BN & IR 4 A5 G o i ek
JREE ) e 26 BARAE spo A BEA R 5 bR T 6 i 2 b i o e 1 SOt AT Aa AR 5V D 48
AN I FE S AR G IS R B 5V, A RS  RR T A AT G R R S
Vi B kAR B S0 58 B G R R S ) B R

[oo14]  JDERB HHATIAIK H bR & BOMAH AT N F

[0015] LP(Xk) = "?'{(szaixh + (vk - wk)dk)/vk =P ]2 + Zcz‘xki

=1 i=l

[0016]  §.I. Zxki =1

i=l
[0017]  wX, < tB
[0018] tB<U
[oo19]  AKXrf, W (X) A kNESIHM EFRRE k=1, 2. N, N ARG ST
LA sn Ron 2 5 G AL 5 AN X A H k ARG R AL 5w B, X, =
(Xt Xio™* Xl ' Xy = 0, % KA 1 PR MAESE k NG R RS B s A Rl R
RIRE, A = 0 sa; A 1 P4l iR BUEdE sd, A58 k ARG B T4 A0 SEBrii 43 1) 22
ME A S SRR, d = 0 5p AR kAN R 50 RS 9% e R R 1R DR g P B 1R
A BN, pe = 0 5¢ A 1 M TIRERIGM A%, ¢, = 05w A58 k MRS BRI 5 &,
w, = 05t HEB k NEA B AH AT ], t, = 0 st AR TR P E S0 AT I 18],
t = 0 5B 4 JR MBI Ze RN 21 25 3 1 B KL, B = [by, byeeeb, ], B = 0, b, ARG 1 P41y
T BRI U A S BSR4 43 BTS2 AR i e &, U = [uy, upeeew ] U 20,
Uy RNFER S 1 P w4l o ST PR A A i i B
[0020] AU BFA 20 80K -
[0021] A BHSEIR T — P B JEC v M 0 22 48 LE ) B s A 0k 7 v, vk 17 IR
BN A7 AE 1 22 3+ 0 JEC VR A i Z2 M2 1] 8L, A CDU H AR 335 A2 i T B SR 7% s ol 38 4 77 i v ek
FUmZE4s CDU A 820 T3 B A R P, ORIE 17w Bta, HR4g s 1 A & 5F 3t

M (=35 AR
[o022] & 1 BA G EEM R A G it R ah v s =
[o023] & 2 A G EEMIEMIE G T ZE.

BAEESR
[0024] ¥l 45 W RS ME 90 A WAt — 3 B

[0025] T i LA A A B 2E SE A Al S5 S R 0 9 45 2 — BLAR B0, 5t VR AT P oS5
PRI ARV R

[0026] 4TI L JF %, kAL 3 AN UL AN E, 3 46 B IR, 4 B R ST — A
VAL, SRR A A T B, SR RN ODU N T YA S UGHEAT ,
VR A — 52 LB R, ALV A 52 U FESEAT T — ML & . ARSI M E DA AR BT AR 7

5



CN 103365208 A i BB 3/4 7

SN TTHE T BT S, AELAS 2 BH () AR Y0 [ AS PR T 3R 1 5 i 481 o

[0027] B IZAHLIK YA G E w=10000t, 22 h i e S i Vo = 2000t, BTt AT I 1A

t=16h. 1# B NRIE b=400t/h ;2# B L i KUUE b,=500t/h ;38 B L 5 K HLH

b,=600t/h, | B = [400 500 600]",

[0028]  1# # 43 G W] i & u,=4000t ;2# 41 43 B 7T I & u,=8000t ;34 21 4 W W] i =

u,=5000t, ] U = [4000 8000 5000]",

[0020] LI i o 50 2 P P B o o 4915 38U 5 R 45 RS SR I TRy 24%, 4

AU L# 2053 A v R 14, 97%, AR 80. 8 S G / A 28 2143 AT I i R 28. 2%, FiAS

85.7 FJ0 / Al 538 4153 AT I e 32, 49%, AR 92. 3 35T / A s S 1P 1R e R A vl i

K Hg 16%.

[0030]  fisE BEAN A& & w,=1000t, 245 8 AN A, BN -G I P00 AT I )

t,=2h.

[0031] Gl 2 frow, SR A A B ARG LI PR

[0032] SRR AT EAS AN AR 58 B SR i i ECR H BRAE

_ pf —Po
Vf ~¥;

[0033]  Pi Ve =V)+ps k= 1,28

[0034] RV = [v,, v, ve] = [3000, 4000+ 1000, Op, = 24%, p, = 16%, V, = 10000, V,
= 2000, K73 p, = [17% 18% 19% 20% 21% 22% 23% 24%] .

[0035] 4R )54 B AR R ECHAT O0AL, 15 20 SN A BRI AL 7

[0036]  HbreaZ -

3 3
0a7]  W(X,)=A[(1000 ax, + (v, ~1000)xd,) /v, - p, P+ Y cx,

i=l i=l

[0038]  ZYHAAT -
[0039]  &.I. be:l

[0040] wX, < t,B

[0041] tB<U

[0042] M, a, = 14.97% a, = 28. 2%, a, = 32.49% ;c, = 80. 8, ¢, = 85.7, ¢, = 92. 3,

N AL 2X10% p, R E K ASTEA 58 RS 9% phEE i R M SO R A B AR

i, p, = [17% 18% 19% 20% 21% 22% 23% 24%. 1X, K% k MAEFIA 5w E i, X, =

[Xes Xio™** X ' Xy = 05 Xy RN 1 FRLLMICESE k NMRA IR S . w F5E kA

& ARG &, w,=1000t. t, A% k NG REHR P SATITE, t, = 2h t ARG

AR PAT I 8], t=16he B Ay I i3 8 S BV 20 73 il i B KU, B = [400 500 600

Usb, ToRH 1 FhZA AR IR B R, b,=400t/h, b,=500t/h, b,=600t/h. U Ny 5L R:

(2 43 GEPT $RAL L 73 K B &, U = [4000 8000 50001%, U = 0 su; R 1 Lo

(R 223 BT B AL 23 I i R, 1, =40001t, u,=8000t, u,=50001t

[0043]  d, 58 k ANES A TFAA AT SEBRIAT 0 22 rh e o S b PR BeEidi  d,=16%,

[0044]  SRIFH DG ARG ECT X, = [0.69 0.31 01, SN IH-EE T fRFFA
6



CN 103365208 A i BB 4/4
A BB AN EE AR G 58

[0045] 28 NG AT A6 AT, IAS22 phie b I A s e 8 d, = 16. 97%, 1R 5B 2%
PE A T A i SR AT AR AR, DAL SKARET KT B s iR 28 SKRAF 58 AN 1A R K 5 B 7
X, = [0.54 0.46 0], iZ A& B T7 R4 AL B 35 — AN G 5 56 B

[0046] 1 bIRDER, FERRANE A 3 25 R, J0A52% b b D e A ek e, AR R — A
YA R R 2% o e b S ek e SR AT AR AL, I AR I WIRA 0 SO & B AR S AL kg H
FreAEL, Pk X, = [0.38 0.62 0], X, = [0.23 0.77 0], X; = [0.07 0.93 0], Xs =
[0.0 0.77 0.23],X, = [0 0.33 0.67], X, = [0 0.08 0.92],

[0047] B L3R SPIRHAT, W5 58 T, INAT S8 o Jru A i s e 6 8 24%, 1231 T T
WA Hr.

[0048] A< BHANFR T15 1E i A o et i 2 e Bt , AR BH RO B 73 35 SR R AH
[F) B A] SR IR BRI LSRR .




CN 103365208 A W BB B M /17

a H b

TR

T D

T
2

k.

SRl

"

==
op

R

PR

4 Skl AR

K1

D FiL i R R
-

#H4r i

£ i

Chu

K 2



